RATIONAL ROUND-UP Tic Tac Toe
Cut out the answer cards (this page.) Do NOT cut the page with the real life problems. That is the game board.
Procedures: 
1. Place the game board and the answer cards face up on the desk. Decide which payer will be Player 1. 
2. Player 1 will choose a problem from the game board to solve. Both players solve the problem. Player 1 finds the answer card. 
a. If both players agree the answer is correct, flip it over to the blank side, and mark it with an “X.” Lay it in the space on the game board. 
b. If Player 1 is incorrect, he/she loses their turn. 
c. If Player 2 was correct, he/she flips the answer card over to the blank side and marks it with an “O.” 
d. If neither player was correct (after asking the teacher,) the space is eligible for either player to solve later in the game.

3. Player 2 then chooses a different problem to solve and play repeats until a player has 3 spaces in a row (horizontally, vertically, or diagonally.) 
4. If all problems are solved and neither player has 3 in a row, the player with the most spaces (problems solved correctly) is declared the winner.
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	About 
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 of the world’s population lives in China and 
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 of the world’s population lives in India. What fraction of the world’s population lives in other countries?
	Of the 50 states, half of the state names end in either an a or an e and 
[image: image11.wmf]25

3

 end in either an i or an o. If none of the states end in a u, what is the fraction of state names that end in a vowel?
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The lap length of Watkins Glen auto racing track is 2.45 miles. The lap length of Bristol is 0.5 of a mile. How many times longer is a lap at Watkins Glen than at Bristol?

	If you have $216 and you spend $12 each day, how long would it be until you had no money left?
	Find the difference between the lowest point in South America, -42 m, and the lowest point in Africa, -156 m.
	During a six hour period, the temperature dropped 18°F. Find the average hourly change in temperature.

	If the perimeter is 12
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 inches, find the missing measure.

	Mr. Alfonso owns two adjacent pieces of land totaling 13
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 acres. One piece of land is 8
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 acres. Find the area of the other piece of land.

	Jamal filled his gas tank and then used 0.25 of the tank for traveling to visit his grandfather. He then used 0.625 of the remaining gas in the tank to run errands around town. What fraction of the tank is filled with gasoline? 

	A regular paper clip is 1
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 inches long, and a jumbo paper clip is 1
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 inches long. How many times longer is the jumbo paper clip than the regular paper clip?
	The ceiling in a storage unit is 7
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 feet high. How many boxes may be stacked in a single stack if each box is 
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 foot tall?
	A farmer has 6.5 acres of land for growing crops. If she plants corn on 
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 of the land, how many acres of corn will she have?

	David mowed 0.3 of the yard while his brother mowed 0.25 of it. What fraction of the yard still needs to be mowed?

	From START, you move 10 spaces forward around the game board. On the next turn, you move 4 spaces backward. How far from START are you now? 
	Mr. Frederick bought five ceiling fans to install in his home. What is the cost of each fan if the total was $608.55?

	Mrs. Lau rolls out 2.75 feet of dough to make noodles. If the noodles are 0.375 of an inch wide, how many noodles will she make?
	A hiker averages 6.375 km per hour. If he hikes for 5.3 hours, how many kilometers did he hike?
	A recipe calls for 2
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 cups flour. How much flour would you need to make 
[image: image21.wmf]3

1

 of the recipe?
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